Solutew léej or Worl yheef  Z[O%

oS w(ff_, vy W &9"‘ e @
6?.3 W 4 \O[w:r; fﬁ Jfog::‘:é’c_[:ve 'C

' The tank of a fuel truck is a cylinder of radius 3 ft and length 30 ft. The tank sits horizontally with the lower

“) side at an altitude of 2 ft above the ground (wheels of the truck are 2 ft high). Assuming that the tank is initially
,r half-full, set up an integral that represents the total work required to completely fill up the tank by pumping up
gesoline from ground level. The density of gasoline is p = 45 1b/#3. (Just set up The calculation of the infegral

is not required. Make sure to show on a picture what varjable(s) %a usin &
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3. Suppose you have to drill a narrow but deep pit %0 € pl ical, with a radius of 1ft
and with a depth of 1000f. The density of the rock encountered varies, so assume that at a depth of 2 ft from the

ground, the density is given by some function p(z) Ibs/ft3.
(a) Write a formula 10 exp! ‘zess the total mass of the material removed’ durmg dnllmgq
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(b) Write a formula to express e total work done in removing the drilled material to the ground level.
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